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The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any five questions: 2x5=10
& T A 2R T WS g

(a) What is contrary opposition and sub-contrary opposition?
[BREICANGIES RUE G R CRELEISRE(CI B IR C IR (G
(b) What is meant by the distribution of a term?
AW ATl @I R CRI ?
(c) What purposes do truth tables serve?

TPRANT FE J 2

(d) What is the fallacy of illicit major? Give an example.
SAY AGWR FIF A2 GF0 SWRFd WS |
(e) First convert and then obvert the converse of the following:

‘Snake bites are sometimes fatal’.

qNHa TG AU TAfe® T € AF TAfS© BT Ko 39 ¢
FAofr TS FUNE NS 27 1

(f) When is an argument form valid or invalid?

@F0 I TP FU (I4 G I S(IL B ?

(g) What is categorical syllogism? Give an example.

orT T DI @ G0 SHiRFe we |
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(h) If ‘A’= True (T), X, Y = False (F) then what is the truth value of ‘A>(XY)’?

I A =79 (T), X, Y = W27l (F) = 9@ A D (X-Y)-93 ToRFy F (A2

2. Answer any four questions: 5%4=20

@ (@I BIFfG 2t T wie ¢
(a) Is simple conversion of ‘A’ proposition possible? Explain. 5
‘A TER R e [ TS A |
(b) What is opposition of proposition? Is sub-alternation a real opposition? 2+43=5
e [l T e sp-REfie & age [
(c) What is meant by ‘Existential Fallacy’? Explain with example.
GREGLTT (MR FIE 2 GRSR P ¥ |

(d) Express each of the following propositions as equations or inequalities and symbolise them

by means of Venn-diagrams:

(i) There are no ghosts

(i1)) Some pacifists are socialists. 2V542V5=5
IHa el TNFaed SR SPNFACR AP TS IR (S06ad AR 2P 39 3
(i) v© G2l

(i) @ @ *EFT =7 AT |

(e) Use truth tables to determine whether the following statement forms are tautologous, self-

contradictory and contingent: 2V242Y5=5

Mo oimfod MR WEe e Tosres, Fosfiian «ae s Gl e 5 ¢

@ (P9>P>-9
(i) [(pq)>r]=[p>(q>1)]
(f) Name the fallacies committed and the rule violated by the following syllogistic form:
fca Ty wice (@i s wftee 2 /el S 9 g 2Y2+2Y5=5
(i) OAI-3

(i) EAE—4
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3. Answer any one of the following question: 10x1=10
@ @ G5 A Teq mie ¢

(a) Determine the validity of the following syllogism by means of Venn-diagram: 5+5=10
confbeas ARy WRie MRk el [om w9 ¢

(i) Children are always cowards, but not always liars. Therefore, liars are not always

cowards.
fireql S S, e oFl W MR 771 Sreed MR W SRkE w3
(i1)) Some parrots are not pests. All parrots are pets. Therefore, no pets are pests.

@I @I (STl T G a3 | AFe (oroif 27 (A=) G, Sredd @i ot
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(b) Use truth-table to determine the validity of the following arguments: 5+5=10
SepiRaR MR fEkie Ifewkn @re N ¢
i) Io(NDC)
~C1
~~N
(i) If copernicus was right then Ptlemy was wrong. Ptolemy was wrong. Therefore,

Copernicus was right. 5+5=10
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